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TR pafrel-
INSTRUCTIONS

1. Please correctly fill vour Roll Number in O.M.R. Sheet.
Candidate will themself be responsible for filling wrong
Roll No.

2. At the start of the examination before attempting the
question paper kindly check your test booklet and
OMR Answer Shest and ensure that :

*  The serial numbers of test booklet and OMR answer
sheet are same,

*  All pages of test booklet and OMR answer sheet are
properly printed. All questions from S.No. {1 to last
S.No. 150 are printed and pages from S.No. 1 to last
S. Ne. 24 are there in the question booklet,

In case of any discrepancy / defect the candidate should
immediately report the matter to the invigilator for
replacement of test booklet and OMR answer sheet. No
claim / objection in this regard will be entertained after
five minutes of start of examination. Candidate will be
liable for it.

Answer all questions.

All guestions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be

treated as wrong answer.

Each question has four alternative responses marked

serially as (A), {B), {C), (D). You have to darken only

one circle or bubble indicating the correct answer on
the Answer Sheet using BLUE BALL POINT PEN.

8. 1/3 part of the mark(s) of each question will be
deducted for each wrong answer. (A wrong answer
means an incorrect answer or more than one answers
for any question).

9. Use of Moblle Phone/Bluetooth Devices or any other
electronic gadget in the examination hall Is strict

L 5

e
N

prohibited. if any such prohibited material found with -

any candidate, strict action will be taken against him/
her as per rule.

10, If there is any sort of ambiguity/mistake either of

printing or factual nature in Hindi and English Version
of thg qgesliaon. the English Version will be treated as
standard.

Warning : If a candidate is found copying or if any
unauthorized material is found in hisfher possession, F.LR.
would be lodged against him'her in the Police Station
and ha/she would liable to be prosecuted under Section
3 of the State Prevention of Unfair means Act, 1992
and Board Regulations. Board may aiso debar himfher
permanently from all future examination of the Board.
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. . - : : : 9 A cylinder has base radius 7 cm and height | 13  Base of a hemisphere, a cylinder and a
deviation from the median for The diameter of a circle is 105 cm less Y : . ‘ phere, a cy
E::eflc:ﬁ::vinegv:laata - than its circumference. The radius of the 10 cm. What is the volume of a cylinder ? cone is equal and also the heights are same.

34, 66, 30, 38, 44, 50, 40, 60, 42, 51 circle is - (&) 1540em®  (B) 770 em® The ;a;ighelr v;l;qmes s e
, 66, 30,3 G . TH IM TH P
ﬁ&ﬁm%mmawﬁﬂm_ | (A)éi om (B) zi;r:m © 770 7 em® (D) 1500 cm® | O S S

¥ (C) 24 em (D) 24. UE Yo ¥ o B Brew 7 & qm AR B ST ¥ —
34, 66, 30, 38, 44, 50, 40, 60, 42, 51 T A G A Sae ufii & 105§ B9 e 10 0 & 1 ¥ @ TR T € 7 ) 1:2:3 B 2:3:1
(A) 8.7 (B) 8.8 b B - A) 1540 883 B) 770 33 ©3:2:1 (D)2:1:3
©) 89 D) 9.0 (A) 22 K (B) 23 ¥ © 3 O 3 |
770 & 1500 &
' . (C) 24 L) D) 24.5 GLl 14 A metallic sphere of radius 2.1 cm is
The mean and median of a frequency ) )
distribution are 52 and 55 respectively. | 10  The radius and the height of a cone are in melted and reset into sphere ball of half
istribut . St | . _ the ratio 1 : 3 and its volume is 1078 cm? radius of origin sphere. How many such
What is the mode of the distribution ? An observer 1.5m tall is 20.5 m away ; .
. et from a tower 22 m high. The angle of then its diameter is - spherical balls can be made ?
LAl wﬁj W h 'HTW o levation of the to ofthe.tower from the (A) 3.5 em (B) 7 em % 9g e 2.1 T B ¥ Ry
FAM: 52 @ 55 ¥, A o B TGEED elevd PO | (C) 14 ¢em (D) 2t em et Sed ol Brear @ e e
: eye of the observer is - . . w .
wE e __ 3 S 205N U i B e T Su W o 13 T ¥ | A Rraed e W v
@ 6 B) 53.5 1.5 ¥ T St 22 W S T W 20.5 T TH FET 1078 A1 ¥, 7@ @ ¥ 7 -
© 53 @ s WE | o ol T AT B o § - | *) 2 ®) 4
o _ ‘ I B ¥ — (A) 3.5 &4 B) 7@ ©) 6 (D) 8
Two identical cubes each of volume (A) 30° (B) 45° (©) 14 &N (D) 21 A
64 cm® are joined together end to end fo - {C) 60° @) 75° 15 The scjuare root of 3025 is -
form a cuboid, the total surface area of o 11 If a=1 and b=1 is a solution of the 3025 & @ ¥ -
~ the cuboid is - , The value 50° in radians is - equation 5a + p =175, then the value of (A) 35 (B) 45
(A) 80 cm? (B) 160 cm _ pis- - (©) 55 D) 65
(C) 320 cm? (D) 640 cm? 50° %1 et ¥ A & AR a=1 &% b=1, T
R T o Reh WS B A 64 9 (A) 50m ®B) 5= Sa+ p=17b & TH T &, 79 p & 16  Water in a canal, 6m wide and 1.5m deep,
% ¥ o @ HEHT Th TN S A 5 5 AR Y - is flowing with a speed of 10 km/h. If
%, T B 5 TN e ¥ - ) =n o) T3 n (A) 5§ ' B) 7 8 cm of standing water is needed, then
(A) 80 &2 (B) 160 ¥12 ? © 1 (D) 12 how much area will it irrigate in -
- 30 minutes ?
2 2 : o
(©) 320 R (D) 640 T The ratio of curved surface area of two 12 Solution of the equation (A) 56.25 hectares (B) 91.47 hectares
| | o spheres is 4 : 9. What is the ratio of their ( 4 '+ a) ( 5-a) (C) 80.76 hectares (D) 76.56 hectares
The total surface area of a cube is 1014 ” : 2+ a)(7 )=Iis- uF 69 D) ol 1.5 W el T A o
- - * : a —- M
sg;a;e meter. What is the length of its volumes ? [n =‘—}'J Wkm/h i TR 95 W ¥ 1Ak 8 Th
side (4+a)(5-a) T FOIT U Anieq @1 ¥ 30 Bre A fead
A) 6 m 169 m . . , T T =1 W& ¢ - )
. EC; 3m g)) 11 m AR 3 7o TS AET B ST 4 : 9 F) (21 a)(7-a) B B R w7
| | A) 56.25 TEIT
o B e g dwed 1014 T _22 2 2 ( \
'?ﬁ%-ima&wa&mw% ? T S B g FE 1T ) (a) a=7 ®) a=-3 (B) 91.47 ¥4
. C) 80.76 TwRUX
. 9 . : 3 3 (
(A) _6’% (®) 169 % (A) 9:4 ®) 8:9 € a=< D) a=-+ (D) 76.56 TFTT
© 1A D) 117 (C) 8:27 (D) 27:8 2 2
61 T1 o, | [PTO. 651 I1 3 N [PTO.
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17

18

19

(4;:2_ + 4x -~ 3) =

(A) (2x-1)(2x —.3).
®) (2x+1)(2x-3)

(€) (2x+3) {(2x-1)
@) (2x+1)(2x +3)

The cube root of 2197 is ~

2197 B TTW &
(A) 23 (B) 17
(©) 19 (D) 13

Study the given line graph carefully to
answer the question :

ﬁqw%mmwwﬁ-ﬁmmm
997 & S6L § ¢

v

O 5011 2012 2013 2014 2015 2018
(x4} Years —

What is the percentage increase in export
from the lowest to the highest for the given
years 7

Rt ¥ g Pt & st |

P r Ry A ghe g ¥ 7
(A) 200%
(B) 250%
(C) 300%

20

21

22

23

(D) 400%

651 I']

The perimeter of a certain sector of a circle
is equal to the length of the arc of a
semicircle having the same radius, then
the angle of the sector in degree is-

(-2)

qﬁ%ﬁﬁﬁﬂﬁﬁWWWWW‘

ﬁm%a@qﬂ%mﬁm%m
%, @ Broawes w1 ww BH AT -

-2

(A) 65° 2T 16"
(C) 65° 5 11"

(B) 65° 45' 45"
(D) 65° 45' 5"

The three vertices of a parallelogram taken
in order are (0, 1), (2, 3) and (4, 3)
respectively, then the coordinates of the
fourth vertex is -

ﬁs@rawagﬁﬂ%waa o zman:

©, 1), (2, 3) 41 (4, 3) ¥, 77 &% 0 &
Prdois ¥ -
A 2D

© 21

What would be the pfmted price of a wall-
clock purchased at ¥ 380, so that after
giving 5% discount, there is 25% profit 7
o Sar TSt @ ik g wa g o
o B9 T T 380 ¥ T 5% EE ¥
aE 25% WY B T

(A) ¥ 400 - (B) T 450

(C) X 500 (D) T 600

® 1.2
(D) (""23""'1)

If birth rate and death rate of a city is 10%
each, what will be the approximate
population of the city after 2 years, if
current population is 3000 ?
off T 9T W) S T A T 3 TS
10% ¥ 129 % T" A D TV TS
Fn o TRy e wEE 3000 ¥ 7
(A) 2940 (B) 3060
(C) 3630 (D) 3000

[P.T.O.

24 Area of piece of a canvas is 1105 m2. A

25

26 -

651 I1

conical tent is to be made by canvas with
base area 616 m2. Assuming that all the
stiching margins and the wastage incurred
while cutting, amounts to approximately
5 m?, then the height of the tent is -

(A) 20.71 m (B) 24 m.
(C) 1820 m ® 2l m
TF HINE % Ths B AA%d 1105 N2
T FEN G OF F A B qY L
frge o w1 fed 616 N2 T | W
A g4 e R ol werd & T 5 92
FTEE T o B | Y B T ¥ -
(A) 20.71 =t (B) 24 W
(C) 18.20 & (D) 21 |

If P(t) is a polynomial of degree » 21 and
(r~2) is a factor of P(t), then P(2) is -

(A) 0

B) (r-2)

(©) 2

(D) Can not be determined

aRk P(t), » > 1 9T I 9gI< & AT (¢ - 2),
P(t) @ TF YOGS ¥, a9 P2) ¥ -
(A) O '
B) (r-2)

€ 2

(D) it & fopar v wae

1
The value of (250047)A -(13824)%
is - ‘
1
(250047% -(13824)% AR ¥~

(A) 23 -~ (B) 29
© 33 D) 39
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27 The area of a circular ring enclosed

28

29

between two concentric circles is 286 ¢m?2.
What are the radii of the two circles if
their difference is 7 cm ?

(A) 14cm, 7em (B) 10 cm, 3 cm

(C) 12cm,5em (D) 13 ¢m, 6 cm

T wHtEm gl % e wiEE W gamn
g B AAEE 286 WA ¥ | G g B
Broad w7 ¥ At o stmr 7MY 7
(A) 148, 7 &0 (B) 10 &, 3
(C) 123, 53N (D) 13 70, 6 AW

Area of the smallest square that can
circumscribe a circle of area 616 cm? is -

(A) 784 cm? (B) 824 cm?
(C) 864 cm?2 (D) 764 cm?
3G BIE ¥ B T &1 §A%a &G € S

616 = T §EA A gO@ B YRR
qrar ¥ 7

(A) 784 |2
(C) 864 @2

(B) 824 &2
(D) 764 T2

Out of ¥ 20,000 Narendra gives some
amount on loan at simple interest rate 8%
per annum and rest amount at simple

4
interest rate 5-% per annum, At the end

of year he earns ¥ 800. The amount given
at 8% rate will be -

4= 20,000 ﬁré@svﬁw%aﬁtm&zﬂw

i st 2T 9T ST S fdn %

mmarfﬁaawamm%m% o
¥ o W I T 800 @Y oty rRfa B ¥
8% el 8T X IR q T wfit 9 -
(A) T 8,000 ®) T 6,000
(C) T 10,000 D) T 12,000

[PTO.



30 Tonu invested 10% more than the
investment of Monu and Sonu invested
10% less than the investment of Monw;If
the total investment of all the three persens
is T 60,000, the investment of Monu is.»
2, W W 10% e Frae s € au
T, A ¥ 10% 79 Py wmar ¥ 1Al
& st @1 g Frasw 60,000 %, t?FL
w faw ¥ -
(A) T 10,000 B) ¥ 20,000
(C) T 30,000 ®) T40,000
31 How many cubes of 25 cm edge can’be
put in a cubical box of 1 m edge?
10 R am s e, 25 ‘s’lﬁ’(
TR T Emd 7,
(A) 4 B) 16 .
©) 32 D) 64 i
- L.
32 If point A (x, ¥) is equidistant from the
point B (3, <) and C (-2, 0) then - . :
ot &g A (v »), g B 3, ) e
CR)vTmRgPmIaa-
(A) 4x-8y=16 |
(B) 4x-13=2y
(C) 10x ~ 8y =21 o
D) 10x+8y=16
_l 3
33 The value of (423801)% +(22801)1__A£_
is -
: 1
(4238015 + (22801)% & A ¥ -
(A) 902 (B) 912 "
(C) 802 (D) 812
651 I1

34

33

If A, B, C are the angles of a triangle,
then the value of

tan(B + C) + tan(C + 4) + tan{4 + B)
tan(z — 4) + tan(7z ~ B) + tan (% —~ C)

is equal to -

afy A, B, C fotlt Byt & & &, a9

tan(B+C)+ tan(C+ 4) + tan(4 + B) |

tan (7 — A) + tan{z - B) + tan (% ~ C)
WA TETE -
(A) 0

© %

In the adjoining figure, ZADE = /B,
AE=8cm, EB=7c¢m, BC=9cm,

AD=10cm and DC=2cm, then the
length DE is -

®) 1
(D) tan (A+B+C)

A
E D
B . C
(A) 2.1 cm (B) 6 cm
(C) 6.75 em (D) 7.8 cm

Hw f § ZADE = /B, AE= 89w,
EB=7®9, BC=984, AD=103
M DC =234, 7@ DE & 98 §

A
E D
B - C
(A) 2.1 &l B) 6 a0
(€) 6.75 AW (D) 7.8 9t
[PT.O.

36

37

Two parallel lines AB and CD are
intersected by a transversal EF at M and
N respectively. The lines MP and NP are

the bisectors of interior angles /BMN
and ZDNM on the same side of the
transversal. Then ZMPN is equal to :

% ek @ EF, 3 SRR Y@ AB |,
T CD & HAW M AW N TR HRA & | |-
‘rand MP e NP, frdss e % o & 9% |-

fRerg oTAITv® WO ~ZBMN 9491 ZDNM
P od® € 1@ @ AMPNESMH%—

A D
C¢ /N
F
(A) 45° (B) 60°
(C)y 90° (D) 120°

38

LoALA

A passenger train takes 2 hours less for a o

journey of 300 km if its speed is increased
by 5 km/hr from its usual speed. The usual
speed of train is -

(B) 30 kmv/hr

(A) 25 km/hr

(C) 15 km/hr (D) 20 km/hr |
300 Pedt g 7 FT F ww wEh T o
24 B wHg A € A g TR '
T § 5 fEiE. T & W@ | e | -
e iy ¥ -

(A) 25 fea, (B) 30 Rl

©) 15 fFii. (D) 20 T,

651 11
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Which of the following is an equation ?
et ¥ ¥ B 0w Wl ¥ 7 |
(A) x=0

B) x+220

(€C) 9-5=4

(M (x+y)2 = x2 + 2xy+y2

The average salary of a group of unskilled
workers is ¥ 10,000 and that of a group of
skilled workers is ¥ 15,000. If the
combined average salary is ¥ 12,000, then
the percentage of skilled workers is -

TP ACTHl B TH WE A\ AT
T 10,000 ¥ a1 BIW ARTH F WE H
Fa7 T 15,000 ¥ | AR 39 TR W GG
afraT da T 12,000 &, T v it @r
askr & —
(A) 30%

(C) 50%

(B) 40%
D) 60%

If log;g2=0.3010,
logs 1024 is -

the wvalue of

af log;y2=03010, T logs 1024 &
LI

(A) 4.306
(C) 6.931

B) 3.010
(D) 1.386

A right angle triangle has height 12 ¢m
and base 4 cm. The area of triangle is :

(A) 12 sq. em (B) 48 3q. cm

(C) 24sq.em (D) 32 sq. cm

s ae frger & Sad 12 T aw
aerT 4 & ¥ | B w s ¥

A 12wt d (B) 48 it Wi
© 4TEH (O 2 ¥
[PT.O.



42  In which ratio the point (-3, p) divides the
line segment joining the points (-5, —4)
and (-2, 3) ?
fig (-3, p) form orgura & fRigaw (-5, 4)
T (-2, 3) @ Pem TR TerEes @
i s ¥ 7 ‘

(A)2:3 B) 3:2
) 2:1 Dy1:2

43 100g is what percent of 1 kg ? _
100 W™, 1 Rewm & feaen wiiea & 7
(A) 1% (B) 10%

() 100% (D) 1600%

44 Two numbers are in the ratio 6 : 7. If 4 is
added to each of the numbers, the ratio
becomes 13 ; 15, then the smalier number
is -

B WS H AU 6:7 ¥ 1 9l wdw
HET A 4 WeT A ¥ A A 13: 158
WM ¥, 99 B wew ¥ -
(A) 36 (B) 48
(€) 56 (D) 60
45 The angle which is four times its
' complement is -
JE HIV, S ST TH B H AR A §-
(A) 60° (B) 68°
(C)y 72° (D) 75°

46 A shopkeeper offers his customers 10%
discount and still makes a profit of 26%.
What is the actual cost price to the
shopkeeper of an article marked T 280 ?
TH GHFETT AT Tew & 10% 9T &
T aar & REC W 26% @ siifa wean
¥ 1T 280 siftpa & B %G BT JHRR
g ol Fg T R ¥ ?

(A) T 186.48 (B) ¥ 200
(C) T 2072 (D) T 252
651 I1

47

48

49

50

The distance between the points P (2, -3)

-and Q (3, -2) is -

(A) ¥2 Units  (B) 542 Units

(C) 242 Units (D) 3+2 Units
PR, HawWQE, ) F A A T
% -

(A) 2 =
©) 242 @E

B) 5v2 %
D) 3v2 =

In which quadrant both absmssa and
ordinate are negative ?

(A) First (B) Second

(C) Third (D) Fourth

forer aguia & g qun S AN R
WE?
(A) a9

(C) T

®) dm
(D) ugd

The compound interest on I 10 lakh at
8% per annum is T 2,59,712. When interest
is compounded yearly then the time period
is -

(A) 2 years (B) 3 years

(€) 4 years. (D) 5 years

% 10 9@ &M 8% aiffe @t aX & wwafs
o T2,59,712 % | 919 < 9 ST 85
qq Tty ¥ -
(A) 2 a9 (B) 3 a¥

(C) 4 a4 (D) 5 ad

If the selling price of 20 articles is the.

same as the cost price of 23 articles, then
the profit percent is -

afy 20 =egei @t Riew g 23 gl &

wa Fd & W §, a9 e e ¥ -

(A) 10%
©) 15%

(B) 11.5%
D) 30%

[PTO.
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51

52

53

(A) Rice (B) Wheat

(C) Barley (D)} Masoor
frddsrd @ N wam Tl § ?
(A) 9 B %

(C) s (D) X

Which of the folloWing is not an agro-
based industry 7

(A) Edible 0il  (B) Khandsari

- (C) Papar ~ Bhujia (D) Cement E
fr ¥ & T F-omaRE wEm w8 |

¥?
(A) @ @ (B) @osard
(C) Tz - R (D) @R

As per recommendations of Fifth State ..
Finance Commission of Rajasthan, |

distribution of the allocated resources for

local bodies, is to be made in the ratio of - |

{A) 75.10% to rural bodies and 24.90%
to urban bodies

(B) 70% to rural bodies and 30% to urban }

bodies

(C) 40% to rural bodies and 60% to urban
bodies

(D) 50:50 to both rural and urban bodies

TETEI % ied 1oy Ry e 2 el

% SE Wiy Tl @t st dareE!

&1 Tt orum ¥ -

(A) 75. 10%urr?rurﬁaam‘ra?reﬂrz490%
yedt freemEl @

(B) 70% wrlior Preml & wa 30%:1:&
58

(C) 40% Trvr Preri @ wd 60% el |

frreral 1

frrmrat a1

(D) 50:50 T 7nim wd orEdl Preal &

m.

651 I1

56

Which of the following is not a rabi crop ? | 54

39

57

Which Article of the Constitution deals

with  powers, authorities and
responsibilities of Panchayats ?

Hirar 1 PrEr syt durRal A i, |
sRR o fordeml @ d6fm § 7

(A) 243 (A) (B) 356 (B)

(C) 357 D) 243 (G)

When was Central Arid Zone Research
Institute set up ?

HE S §F ATAUN T B TS B
e Ty av 7

(A) 1971 (B) 1966

(C) 1959 (D) 1985

Which of the following institutes purchases
handicraft items directly from the craft

- persons ? ‘
e & 9 S den seifeal @ 99
S B TR SN Sl B W
t 7
(A) RIICO (B) RFC
(C) RAJSICO (D) RBI

Who conceived the idea of the Indira
Gandhi Canal Project ?

(A) Mohanlal Sukhadia
(B) Jawaharlal Nehru
(C) Jainarayan Vyas
(D) Kanwar Sain

R G R S
M AU ¥ ? -
(A) WSt garea
(B) SRETETER VTS
(C) STOae ="
(D) %aT 99

How many districts of Rajasthan are
covered by Thar desert ?

ToRaT % PRt Rt ¥ e v e
g 7
(A) 5 (B) 6
) 7 D) 12
[P.T.O. .



59 When was Rajasthan State Mineral

60

61

Development  Corporation  Ltd.
amalgamated with Rajasthan State Mines
and Minerals Ltd. ?

(A) 20 January 1990

(B) 26 December 1995

(C) 1 March 2000

(D) 19 February 2003

TN T ' e o f1, @
fawa teem TeY @m wE e T o
®Y g 7

(A) 20 WFEQ 1990

(B) 26 fem=t 1995

(C) 1w 2000

(D) 19 wxal 2003

What is Saksham Yojana under Sarva
Shiksha Abhiyan implemented in
Rajasthan ?

(A) It ensures self employment to youth.
(B) It gives self defensive training to gitls.

(C) It gives skill development training to

youth.
(D) It gives
housewives.

T § ouw w99 fuer aftmm &

A A AT F ¥ 7

(A) T gar @t @ @R giivad s
T

(B) wmﬁw&ﬁ@rw%ﬁn‘qwﬁm
[ E

(C) & e TR <6t IS ferebrer 1 Siyveror
W ¥

(D) 49z Tl @0 < aiRel 30 ¥

insurance pohcy to

What is the share of Government of
Rajasthan and Hindustan Petroleum
Corporation Ltd. in Rajasthan Refinery ?
o™ gl § oone w@R ofie
fergearT Yo frme e, o fedard) fovertr
T ?

(A). 74 : 26
(C) 75:25

(B) 26 : 74
D) 25: 75

651 I
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| 63

64

65

In which of the following district industrial
centres of Rajasthan not a single large scale
industry is operating as on 31 March 2017 ?
(A) Dausa (B) Jalore

(C) Pratapgarh (D) Al of these

Fret ¥ A o & fow R o

¥ ¥ 31 91 2017 W Uw W 9 fOm @
T el € ar 7

(A) 3 (B) S

(C) WA (D) T T

Which of the following is first Super
Thermal Power Plant of Rajasthan ?

(A) Suratgarh Super Thermal Power Plant
(B) Kota Thermal Power Plant

(C) Chhabra Thermal Power Plant

(D) Dholpur Gas Thermal Power Plant

e & § I U @ uer gul

g YT Wi ® 7
(A) e guR A YRR Wi

 (B) ®rt A qEy Wi

(C) west 9 IrER Wi
(D) Hegt g ardg W= @i

Rajasthan has . percent Felspar
reserves of the country.

TR H 391 &l ufigrer Hegure
WS ¥ |

(A) 100 (B) 50

() 33 (D) 66

Which of the following power projects of
Rajasthan is under state's complete
ownership ?

(A) Chambal Project

(B) Beas Project

(C) Mahi Project

(D) Satpura Project

Freifeflas & woRam @1 B9 fga
R U & W @ gl @i e
LIECINE 51

(A) T/ Ew i@ (B) S/ G

(C) #ft aftEsF (D) Hayst IRaerT

[PTO.

66

67

68

69

Name the Ruler of Jaipur who served the
Mughal Court constantly during the reign
of Mughal Emperors viz. Shahjahan and
Aurangzeb.

(A) Raja Man Singh

(B) Mirza Raja Jai Singh

(C) Maharaja Sawai Jai Singh

{D) Raja Bhagwan Das

IR AR e oY oo F
e ¥ Prick g aar ¥ w1 w0
T TAGY H ES Bl AW qAR |

(A) TS AFRIE

B) ot e ok

(C) wewTen warg st

(D) TS 9@ T

Who was the founder ruler of Kota State ?
(A) Madho Singh (B) Mukund Singh
(C) Kishore Singh (D) Ram Singh

BT Y B WS F I 917

(A) mafRiE
(C) fpsiriiis

(B) qg=aRie
(D) TmRE

In which Hindu month (V.S.) is Teja
Dashmi celebrated ?

(A) Asoj (B) Shravan

(C) Bhadrapad (D) Kartik

Pre g wE (R § Soeeedt T
i &7
(A) oMES
(C) wAEvg

(B) sy
(D) Wici®

Champakali ornament is worn on which
part of the body ?

(A) Neck (B) Head

(C) Forehead @ (D) Ear

TG TN 9T & R S Ut v
W ¥ ?
(A) T
(€) wrar

(B) R
(D) @1

6] 1
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70

71

72

Who proposed the formation of Hadauti -

- Sangh' to integrate the smaller states of

South Rajputana ?

(A) N. B. Gadgit

(B) Maharao Bhim Singh of Kota

{C) Maharao Bahadur Singh of Bunch
(D) Gokul Lal Asawa :

2t TgERT % B T @ T
W & oo few T @ T @
weare fen?

(A) @ &t i

B) weraa Nafie (@)

(C) meTua wergRie (§4)

(D) Tigw T S

Which ruler of Jaipur composed poems -
under the pen-name 'Brijnidhi' ? '
(A) Sawai Jai Singh

(B) Sawai Pratap Singh

(C) Sawai Prithvi Singh

(D) Ishwari Singh =~

TR W BAET EE HrEwed F om
I Fry s 47 :

(A) T wafkiE
(B) v yamfdE
(C) Ta yeiiie
(D) 9TaRiE

Who founded Vardhman Vidyalaya in
Jaipur ?

(A) Vijay Singh Pathlk

(B) Tikaram Paliwal

(C) Arjun Lal Sethi

(D) Heera Lal Shastri _
TR § T R @ e ﬁ:'eﬁ
#y?

(A) Rrmafte e

(B) JHRM TR

(©) srfme ¥y
(D) e swelr

[P.TO.



73  Who among the foliowing was one of the

leader of the revolt of 1857 in Kota ?
"(A) Jaidayal '

(BY Nand Kishore

(C) Kanhaiyalal

(D). Kushal Singh

fredifaa ¥ ¥ @ B § 1857%51’6@13

& TF gt o
(A)- ST
(B)-7= iR
(©) T
(D) pttie

74  Which is the most popular Rajasthani song
which describes the beauty of a young
girl 7
(A) Kurja B) Mumal
(C)" Sapna (D) Gorbandh
ﬁﬂm wirg Terarl N @@ gat & Al
T 9 HET & 7
@ym @
(C)wn (D) &Y

75 Where is the temple of Goddess Tripura
Sundan situated ?
(A) Banswara  (B) Udaipur
(C) Dungarpur (D) Chittor.
B gl 3 @ R et Ruw ¥7
(A) stgarT (B) smax¥
(€) gMYT (D) frchg

651 I1
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76

77

Match the following Wildlife Sanctuaries |

with their correct locations :

(1) Ramgarh - (a) Dholpur
Sanctuary

(11) Jawahar Sagar (b) Churu
Sanctuary

(iii) Van Vihar  (c) Bundi
Sanctuary

(iv) Taal Chhappar (d) Alwar
Sanctuary

(v) Sariska {e) Kota
Sanctuary

frrfofaa aele strareal @t ot w8l

- srafufedl ¥ fremy ¢

(i) T (a) WYL
Y

(i) TEET WFR (b) Y&
STHATCG

(iii) T fEr ) @
I

(iv) TR BrUT (d) emaT
SAYREY

(v) afwsr (&) BT
AT

‘ @ () @) Gv) @

A () @ @ (© (b

B @ ® @ & ©

© © & @ O @

) @ @© & (@

(@)

Which tree 'leaves are used for making
'bidi' ?

(A) Palash (B) Dhokda

(C) Tendu (D) Teak

BT g4 B Rl @ IvErr D fmf
Fom e ?
(A) Gemyr

(€) 9%

(B) HrwsT
(D) WFEH

[P.T.O.
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79

80

81

651 []

The Gajner Wildlife Sanctuary is located
in which district of Rajasthan ?

(A) Hanumangarh (B) Bikaner

(¢) Churu - (D) Sikar
T Sl SR TR ¥, AR
R & R % ? -

(A) T (B) FHRT
©) g D) £: 0o S

. Tharparkar breed is found in whlchTegzon

of Rajasthan ? -
(A) Western Arid region '
(B) Shekhawati region ¢
(C) Eastern region “
(D) South-East region
Frafafes § 9 e & W@ﬁ i
qURHY WA T I X 7 e

(A) Tyt % &3
B) § i S

e
AT

T
i

(C) & & &3

©) R &=

[T

Red loam soil is found in district of :
(A) Sirohi (B) Kota
(C) Dungarpur (D) Bikaner
W dwe frf g S A ey
(A) RRY& (B) & W
(C) T (D) f@HAT

‘Nathra ki Pal’ mine is located i m gl;stnct
of : ]

(A) Ajmer ®) Udsipur
(C) Sirohi (D) Barmer
T W e @ Re R | axaﬁaa
TP
(A) SFHT
(©) Hod

(B) ST @R
(D) TRAT
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83

84

85

'Luni Basin' is a part of which broad
Physiographic division of Rajasthan ?
(A) Eastern Plain

(B) Western Desert

(C) Aravalli Hilly Region

(D) South-Eastern Plateau

T AR TRy % few R yerekie
frm e o i § 7

(&) T Fr

(B) witem wetaw

(C) STl TBTEl YR

(D) TRA-GAT 931K

Which of the following is with gentle slope
on sand dunes windward side and steep
slope on leeward side ?

(A) Longitudinal (B) Transverse

(C) Barchan (D) Nebkha
frtifee & A AT ST Y T T
W T A JGTIgE oI e ek g 7
(A) orRef (B) 1T

(C) stE™ (D) =&

Which of the following Tehsil has the
highest density of Sahariya tribe in °
Rajasthan ?-

(A) Dhariyabad ~ (B) Kishanganj
(C) Chhabra (D) Mangrol
Ter § Pt § @ @we asdi| §
wefa senl &1 T efream ¥ 7
(A) afaEg (B) st

(C) 81T (D) W

‘Which of the following categories of forest
covers the maximum percent of area in
Rajasthan ?

(A) Private forest

(B) Unclassified forest

(C) Reserved forest

(D) Protected forest

PP T AR § ¥ o ¥ Prad
gt watius wiea & arga ¥ 7
(A) Freft = (B) Sreriigd o
(€) oty a0 (D) W@ =

[ PT.O.



86

87

88

89

651 I'T

Varun-18 is an exercise related to which
one of the following ?

(A) Naval

(B) Military

(C) Airforce

(D) Disaster Relief Force

TE-18 W oA P ¥ 4 R 9
TR & 7
(A) &

(C) =nga

According to Budget announcement
2018-19 what will be the salary of
Asha Sahyogini in Rajasthan ?
2018-19 Y qoT2 HIWOT % FTEX VAT
o ‘ane wEdReY &1 Ao W g ?
(A) T 1,850 B) ¥ 2,000

(C) T 2,500 (D) T 2,200

(Bj LEE
(D) anvET Ued &

Which one of the following Military
stations will be developed as smart facility
under the Smart City Mission ?

(A) Bhatinda (B) Wheeler Island
(C) Jaisalmer (D) Jodhpur
fraffas & @ @var fed *ym =
el P % qed o SRS B ww A
Rt fear smom 2

(A) wievsT - (B) @ dw

(€) Srawat (D) Wregy

In Rajasthan on which one of the foliowing
dates, the second phase of ‘“Mukhyamantri
Bhamashah Swasthya Bima Yojana’ was
started ?

(A) 1 Jan., 2018 (B) 26 Jan., 2018
(C) 25 Nov., 2017 (D) 13 Dec., 2017
e § P ¥ A e e e
WIS Wl S 9T & el aon
® A fopn T ?

(A) 199194, 2018

(B) 26 w=ril, 2018

(C) 25 TEaY, 2017

D) 13 fe=w, 2017

14

90  Omprakash Mitharwal has won which of

o1

92

93

the following medals in
Commonwealth Games 7

recent

(A) Bronze (B) Gold
(C) Silver (D) None of these -
sy Prevae ¥ T @ % wved
wal 7 Py & ¥ B wew shar 7
(A) wiE (B) @t

(D) T q g T

(C)

The famous ‘Batadu Well® is situated in
which of the following districts of
Rajasthan ?

(A) Barmer (B) Jaipur

(C) Bharatpur (D) Dausa :
wihg ‘A pol TReM F PR ¥ @
et B ¥ Rera ¥ 7

(A) T (B) AR

(C) v (D) <t

Ayushman Bharat Mission is related to
which one of the following sectors ?
(A) Education (B) Health

(C) Finance (D) Sports

STgHM 9 em &1 o ey fier o ﬂ
frmaagt ?
(A) e

(©) f=

(B) @
(D) &«

Who among the following is the present

Central Vigilance Commissioner of Indla ? -

(A) Shri Sharad Kumar
(B) Dr. Tejendra Mohan
(C) K. V. Chowdhary
(D) Alok Verma

frfofiaa & & & W % w0
el g § 7

(A) ' R FUR

(B) . ¥rx e

(© %. A, <l

(D) &S T

[PTO.
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95

%

97

'"Gararda Vrihad Peyjal Pariyojna' is related
to which of the following district of
Rajasthan ?
(A) Bundi
(C) Kota

-(B) Baran
(D) Jhalawar

TR YEE WAAN AR A B

fre & @ P5E B @ wafem ¥ 7
(a) F& (B) W
(C) ®r (D) ATEE -

What is the current Repo Rate in India, as
per the announcements made by Reserve
Bank of India in June 2018 7

o ¥ offe fear Zr0 5T 2018 § &
T BIOIE $ FATAR MRA § T09H @
TwIE?
(A) 6.25%
(C) 5.75%

(B) 6%
(D) 6.1%

In which one of the following cities, the
Government of India will establish India's
largest data centre ?

(A) Bengaluru (B) Bhopal

(C) Indore (D) Jaipur

e % | TopE 18T H AR @ IRA @
T T T X whE wel ?

(A) e (B)

©) =& (D) saR

National Digital Library of India is a
project of which one of the following
ministries ? :
(A) Ministry of Finance
(B) Ministry of Education, Smence and
Technology
(C) Ministry of Information Technology.

(D) Ministry of Human Resource

Development
wra o T fefrew wad PR
¥FAfpa i wusEs ¥ ?
A) T s
(B) fuwen, fem= & Tl A=Ea
(C) gern TEHTH WA '-
(D) wra gume o dumea

6s1 IT
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What is the new name of the ‘Sports
Authority of India’ ?

(A) Central Sports Authority
(B) Department of Sports
(C) Authority of Sports

(D) Sports India

w7

(A) ¥ WEF SR
(B) i o Wy
(C) TS aiis Wed
(D) wirég siear

Who among the following is the 215
Lieutenant Governor of Delhi ? '

(A) Anil Baijal

(B) Tejendra Khanna
(C) Najeeb Jung

(D) Arvind Kejriwal

e ¥ A P Rl ¥ 219 sraue ¥ ?

(A) oIFw &
(B) oI &=
(C) welie =i
(D) afy= Ferdam

What is the aim of Van Dhan Scheme of

Government of India ?

(A) Increasing forest cover

(B) Restriction on slash and burn
agriculture

(C) Preserving Biodiversity

(D) Empowering Tribal communities
economically

WIS T B a1 EF G761 W FT S
(A) TR TGE

(B) WY T8 o Bl UX Wi

(C) Safataear e

(D) Frwierdl 1 onfte uRRs

[PTO.
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Pyramid of energy

(A) is always inverted.

(B) can be both inverted or upright.
(C) is always upright.

(D) is inverted only for sea ecosystem.

wHal fulfs
(A) UET IWEY rEweT o ¥

_(B)aai‘rm@é’raﬁfawffﬁm

¥

(©) v T s g ¥ )

(D) ¥ W% WG H S@ oren ¥
T F

Who was awarded with the Nobel Prize
in 1975 for the discovery of ‘Central
Dogma Reverse’ ?

(A) Monad (B) Dalton

(C) Khorana (D) Baltimore
¥ S fed B @ ¥ B
1975 ¥ 9@ gT@ER ¥ feam e
o o ? |
(A) W=

© g

B) SR
(D) FEHER

The flow of energy in an ecosystem
follows the laws of

(A) Kinetics

(B) Thermodynamics

(C) Probability

(D) Photochemistry :

we TR d ¥ S e R
F oeT T ¥ ?

(A) el

(B) SeIwiferst

(C) wremn

(D) SIS

IT

16

104

105

106

(C) TS

In which form, does water occur in gaseous
state in the atmosphere 7

(A) Snow particles (B) Water drop

(C) Water vapour (D) All of these
qrgavsw ¥ o, i srawr ¥ feyw wu A
T SR ¥ 7
(&) R B) 7 I3
©) ¥ gl

Which of the three ‘R’s are regarded as
environment friendly ?

(A) Reduce, Reuse, Recycle

(B) Reduce, Recreate, Reuse

{C) Repeat, Reorder, Recreate

(D) Recycle, Reorder, Repeat

fratafag § 9 =9 ¥ 9 ‘R’ vaiEor & |

HTRT W W E 7

(A) B BTN, YT STURT, YATEH

(B) ®W %I, I &, I IUE
(C) IO, T: AR, TH: T
(D) e, §: SHaRad, JIE

For control of which disease is the triple
antigen (D, P, T) administered to children ?

(A) Diphtheria, Pertussis, Tetanus

(B) Diphtheria, Polio, Tetanus

(C) Diphtheria, Pertussis, Typhoid

(D) Dengue, Polio, Typhoid

T %t fraw wedisw (D, P, T) form O &t
It g A AR E 7

(A) Fewedifan, g, eta

(B) fewehifa, aifr, feefm

(€) Rudiftan, Fgtarl, Tawis

() ¥, Wferd, TS

. [PT.O.

107

108

109

110
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(€) % By

In which year was the Indian Patents Act
passed ? '

e ot F st e arfufrm wifta gen
qr 7

(A) 1960
(C) 1980

B) 1970
(D) 1990

Central dogma in molecular biology was
proposed by
(A) Gregor Mendel

(B) Thomas Hunt Morgan

(C) Frederich Griffith

(D) Francis Crick

soifees st fasm A @ Rt @ frar
¥ wga e |

(A) I Hew

(B) W7 ¥ ANA

(D) witaw s

Which of the following is used as an
anticoagulant in blood transfusion ?

(A) Sodium citrate -

(B) Sodium acetate

(C) Sodium carbonate

(D) Sodium nitrate

frtaRas & & fea ward &1 R o
WeTUdr ®Y a8 9qan fear wmar ¥ 7
(A) |t Rz

(B) wiftuwm wiyee

(C) |ifeaw Bz

(D) Wifewm wgge

The nitrogenous base found in place of
Thiamine in RNA molecule is

(A) Uracil (B) Guanine

{C) Cytosine (D) Adenine
SR Y ¥ UwRfrT & @ I 9r
S AT AR aRE §

A) T3 (B) jentr

(©) Wit (D) efsfFr

17
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Which of the following is the largest
ecosystem in the world ?

(A) Desert ecosystem

(B) Grassland ecosystem

{C) Ocean ecosystem

(D) Forest ecosystem

faea % ge@ w1 witRafed @ @F-a
.54

(A) woE™ TiRyRE o

®) TPt TfRaRe =

(C) wrr wiitRafwed &=

(D) =t iRt @

The most' common cause of anaemia in
our country is
{A) Iron deficiency "

(B) Magnesium deficiency
(C) Potassium deficiency

(D) Calcium deficiency

Tk &9 ¥ afeian B g w9 aere P
Ay aad sy ? |

(A) 9® (B) FRE™

(€ ufirm (D) wivaaw

How many contrasting characters did

- Mendel select for his experiments ?

wveE A W warn & g fea R

qAqor g & ?
(A 7 ®B) 8
) 9 D) 10

Who proposed the chromosomal theory of
inheritance ?

(A) Lamarck (B) Darwin
(C) Hooker (D) Sutton i
form i A i @& oG e
wega o ? | |
(A) TTH (B) =i
©) T ©) "

[P.T.O.



115 An electric motor converts :

(A) Mechanical energy into electrical
energy.

(B) Electrical energy into mechanical
energy.

(C) Heat energy into mechanical energy.

(D) Eddy currents energy into mechanical

' energy.

uw TR Wt § s o ¥

(A) T ot w1 g ot ¥ o

B) Fega st @ afsw T ¥ |

(C) T ol & U/ ot A |

(D) e arrsil @ et w AT St A |

The frequency of direct current is :
(A) Zero (B) 50 Hz

(C) 100 Hz D) 220 Hz
fome e & el ¥

GV G I (B) 50 Hz

(C) 100 Hz (D) 220 Hz

116

A ray of light is made incident on a

concave mirror, parallel to its principal
- axis. After reflection it will -

(A) pas-s through the centre of curvature

(B) move parallel to the principal axis of

. the mirror

(C) pass through the pole of the mirror

(D) pass through the prircipal focus
I B OH O U@ e a9 W

THHI A 16 & T STIrerd w1 SIH

¥ TR % uvER W -

(A) FF R q TACH

(B) T & TSI AN & TR TR FON

() = & ga & =en

(D) T&T BHE ¥ TorEh

651 I1

117

18

118 A plano convex lens (u = 1.5) with radius

of curvature 20 cm is silvered at the curved

" surface, The power of the system is -
TP EERad o (= 1.5) @ 9 TE
TN B 20N Y @A H TE

. wae R ouid @ oitew A T ¥ 15

 f@m™ B aFE (power) BRI —
. (A 15D (B) 10D
- (Cy 5D (D) 25D
119 Lenz's law is a consequence of :
(A) Conservation of charge
~ (B) Conservation of momentum
-- (C) Conservation of energy
.. .. {ID) Conservation of current
(A) AN F @O B
- (B) W% % €@ BN
T (C) S F ETET @
(D) U & W H

Which lamp is used as indicator in an
electric tester ?

| . (A) Sodium lamp (B) Mercury lamp
(C) Neon lamp (D) Tungsten lamp

120

" o TR A BT A gEE b WA

- Sudrt fe e ¥ 7
(s S & (B) wh
(C) tam A (D) &R W
12—1 - The unit of rate of flow of electric charge
sig e .
(A) Volt (8) Mho
(C) Ampere (D) Ohm
TRRE A F YTE W R B AE E -
(A) 9w (B) =
(C) THiiET (D) &i™

[PTO.

122 When white light is incident on a green

leaf

(A) the green colour is mostly absorbed
by the leaf.

{B) the green colour is mostly reﬂected
by the leaf.

(C) all the colours except green are
reflected by the leaf.

(D) all the colours are equally absorbed
by the leaf,

Wsﬁqﬁwaﬂo—dmﬂmﬁms\m%

o

(A)u%h%smg@:m%wwmaaﬁiﬁa
T E |

(B) ﬁﬁ?mgﬁlw%mwmﬁh
T E |

(C)uﬁ%mﬁwﬁﬂ%ﬁmw
R O ERkia TR ¥ L ‘

(D)ﬁﬂszmaﬁvﬁmmaﬁwmﬁ
Y EAr ¥ |

123 The defect of eye, that arises due to the

cornea of the eye having different
curvatures in the horizontal and vertical
planes, is known as :

(A) Long sightedness
(B) Short sightedness
(C) Presbyopia

(D) Astigmatism

aﬁqﬂtﬁwvﬁmaﬁﬁﬁmaﬁama;
%ﬁwwmaﬁﬁﬁﬁéﬁ%m
I BT &, HEWRN ¢ -

(&) o gfe
®) Fae e
(©) w1 gIghe
(D) wftzmfe

651 I1 | 19
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124 -V graph for a (conductor) metallic wire
at two temperatures T, and T, is shown in
the figure, then -

Ia

<\

(A) Tl > T2

B) T,> T,

Cy T, =T, :

(D) Cannot be determined from this
graph.

T s A forg @ o T, 9T,

T LV defs Ry, @ -

Ia-

<V

AT, >T,
B) T,>T,
© T =T, A
(D) 70 W% ¥ A 7 Rear W wwr |

[P.T.O.
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If 2 A of current is flowing in a conductor
from a battery of SV, then the resistance
of the conductor is :

(A) 2 Ohm (B) 2.5 Ohm
(C) 0.4 Ohm (D) 10 Ohm
SR B RN AW FN aes §24A
B R g B ¥, & 9w &y
o

A) 2 B) 2.5 I

(C) 0.4 W (D) 10 3™

The law of reflection, ‘Angle of incidence
is equal to the angle of reflection’, is true
for reflection of a ray of light on -

(A) Plane surface only
(B) Concave surface only
(C) Convex surface only

(D) All of these

I BT 99, NG HI0T, T By
F YU T ¥ vy B % e H
qoEad & i el ¥ -

(A) a9 TG §a% & N

(B) %ol Srawe W% & fod

(C) %aw SUw War %

(D) T &l

Which of the following cells can not
produce continuous and constant current
for a longer time ? |
(A) Lead accumulator cell

(B) Edison's cell

(C) Daniel cell

(D) Lechlanche cell

1 & ¥ ¥ e oW @ Proee 9 P

T & GOy & T ey =8 & &7 s
7

(A) € dags 9

(B) TSW @

(C) fa Iw

(D) A=is Ao

I1
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128

129

130

131

A lens behaves as diverging lens in air .
{u=1) and converging lens in water -

(4 =1.3). The refractive index (i) of the
material of the lens is

T AR Y (u=1) ¥ qwErd @
T (p=1.3) ¥ sfrErd a9 & T
TR G & | O & TeTd H TS

() ¥ :

(A) 10<u<13 (B) u>13
1.0+1.3

©€) u<1.0 D) u= 5 ’

Which is an example of physical change 7
(A) Metal rusting

(B) Silver tarnishing

(C) Water boiling

(D) Paper burning

7 A § @ i aieRt B s3I
7

(A) T T

(B) =& & Hiew &1

(C) Ul & IFA

(D) BRI &1 ST

weight of KMnQ, is 52.66, then molecular
weight of KMnO, is

taRear KMnO, + HyC,0,4 +..... —
MnO, + CO, +.......... , % " ¥ KMnO,
W R AT 52.66 & @ KMnO, @

AR ¥
(A) 158.04 (B) 52.66
() 31.6 (D) 263.30

In which compound, the oxidation number
of oxygen is positive ? ,
frr 4 @ fbw Oife o, sieieE A
ARG T TS & 7

(A) H,0, (B) Na,0,

(€) H,0 (D) OF,

[ P.T..

132

133

134

135

651

Which of the following compound is
aromatic according to Huckel's rule ?

& W & e frst § § S Gt
wEfew ¥ 7

@

L]

N
H

©

©) HyC

(®)

CH,

How many structural isomers are possible
for Pentane ?

YR & foparl AT gHETE WY ¥ 7

(A) 0 (B) 1
©) 2 D3

Among the 4 common type of refrigerants
which has the highest ozone depletion
potential ?

W% & 4 G WeT B W S Jead
SIS TaEy ST a7

(A) CFCs (B) HCFCs

(C) HFCs (D) LTCs

White lead is

The T (@) ¥ -

(A) PbCO,

(B) PbCO; - PbO
(C) Pb(OH), - 2PbCO;
(D) PbSO; - PbO

I
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136

137

138

Monomer units of Nylon 6, 6 are —

(A) Adipic acid and Hexamethylenediamine
(B) Terephthalic acid and Ethyleneglycol
(C) Sebacic acid and Terephthalic acid
(D) Terephthalic acid and Methanol

ATHAT 6, 6 B UHAF THEAT T ~

(A) Tl ore 9 teEmitrimerRuds
(B) T(eive o T URATEEHE
(C) Frafes are @ 29ARTE o
D) TrHdifee o T AT

Select the correct statement about

thermosetting polymers —

(A) Don't melt or soften on heating.

(B) These are cross-linked polymers.

(C) Cross-linking occurs during heating
and when it cools it hardens
irreversibly.

(D) All of these

qGE el & 0T W TN w99

BT

(A) ™ FE 9T 7 Rawd ¥ 7 & ol 8l
¥ |

(B) ¥ Redwag wgors ¥ |

(©) ™ & gt fode 94 3 s &
fAv e s Te @ s m@ ¥ 1
T8 AR &9 G FIT A § 1

©) ¥ &l

Activity of heterogeneous catalysis

depends upon :

(A) total surface area only

(B) the number of active sites per unit
amount of catalyst only

(C) method of preparation only _

(D) total surface area, number of active
sites and method of preparation

Tl weor & wfraw Fefc el ¥ -

(A) &9 F YO FIEH T

(B) %aw whva d=i & dEm ul IER
THE W A W

(C) Faw T A fufyr w

(D) Fw Y e, Whe Fvi & W
g = @ fafr o

[P.TO. -



139

140

141

The elements which are good catalysts and
have the ability to change their oxidation
number are

(A) Transition elements

(B) Noble gases

(C) Alkalis metals

(D) All of these

BT IIIH T ATFAIBTIT ST B wEw
W qE W A a ¥ -

(A) FHY T

(B) aw i\

(C) &l &g

D) ¥ &

Correct electronic configuration of
chromium (Cr) is —

TIfEW (Cr) BT &Y 3o famurg & —
(A) 3d44s2 (B) 3d54s!
(C) 3d34s? (D) 3d44s!

-NH; has a much higher b.p. than PH;

because

(A) NH; has a larger molecular weight
(B) NH; undergoes umbrella inversion
(C) NH; forms hydrogen bonds

(D) NHj; contains ionic bonds whereas
PH,; contains covalent bonds

PH; & g&1 ¥ NH, %1 99U-ie 9w 2

¥ wiifs

(A) NH,; &1 oTiivep So0d &1 il &

(B) NH, ¥ arsien gwasiq g &

(C) NH, % TSN 99 % &

(D) NH; ¥ st <4 g § 1afs PH,
¥ weHHeE 99

651 |1
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143

142 Match List-I with List-Il and select the

correct answer using the code given below
the lists :

List-1 List-IT
@iy PVC (a) Thermosetting
. polymer
(ii) Bakelite  (b) Thermoplastic
polymer
(ili) Vulcanized (¢c) Fibre

rubber
(iv)_ Nylon 6 (d) Elastomers
foree-1 =1 -1 9 e At 9 fre

# &l T B W W S T T A\
T R

- Tl fiwe11

@ . (a) TUgE qgerH
(i) Sepge (b) TG T
(iii) THIFT WX (¢) BE ()

(iv) TEH-6  (d) TR qEAE
Code/®5s :

A () - (@ Gi) - ®) (i) - @ (V) - )

B) @) - (o) () - @) (i) - (@ @) - ©)
(©) @) - (@) () - (b) (iii) - () (iv) - (@)
(D) (i) - (b) (iD) - (&) (iD) - (©) (i) - ()

internationally on their mobile devices.

(A) Samsung (B) Nokia
(C) Apple - (D) Motorola
FF Y SR | 9 e
(emoji) & TRTy U Hiaww Rany A
AT Al
- (A) AwET (B) e
(©) Tuw (D) e

[P.TO.

company introduced emoji -

144 Every XML document must begin with a

- (C) TrTHUE =

- 145

~ (C) Oracle Spatialjet
(D) QGIS

146

111

- (A) CIMON

' (C) Rbbonau_t

.asmarem&:ﬂ’ ¥ I 9T vEar 9 ¥

(A) Root element

(B) Child element

(C) XML version details

(D) XML attribute

% QIEOANA SR ¥ §i
T EFY TR '

(A) ¥ T

(B) wrwe T

(D) THETHUE e

Open source tool used for spatial data
analysis is '

Wy ¥ fvdww % g w@m A o
el ofew A g ¥ -

(A) ArcGIS

(B) IDRISI

is the first robot with Artificial
Intelligence to fly in space.

(B) Valkyrie RS

(D) Spidernaut :

P ghe (anféfeRmm $2fmtw)

(A) WHT _
(B) werIRy &S
(C) Udmiz

(D) W
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147 The web browser available with first

148

149

150

graphical user interface was -

(A) Opera (B) Chrome

(C) Erwise (D) Firefox

T UIIHe gt eTHE & Y IR
T T™AC A -
(A) T

(€) EmE=T

(.B) EaEd
(D) WATHTRT

The statement 7 ++; is equivalent to :
(A i=i+ i

B)i=i+1;

©) i=i-1;

D) i=—

HYT J++; WA E —
AYi=i+i %

B)i=i+1;%

©i=i-1 &%

D)i-— %

India's first super computer PARAM 8000
was launched in year ____

W & 9O GUU HRgET WA 8000 HI

g W fRar
(A) 1990 (B) 1991
(C) 1989 D) 1992

is an Indian software application
developed by ISRO to explore 2D/3D
representation of earth surface.

(A) Bhuvan (B) Bhumi
(C) Bhuyaan (D) Bhudev
gE @ WA & 2D/3D  fesoyfreaer @
T T F R - 3O T el
T AT FIYeaat Teibe &
(A) g&F B) T
) vy (D) ¥&a
- [P.T.O.



